



Unidades de superficie (pasar de incomplejo a complejo)

Solución

- ♠ 51.825 m^2 → $5 \text{ Hm}^2 \text{ } 18 \text{ Dam}^2 \text{ } 25 \text{ m}^2$
- ♠ 30.720 ca → $30 \text{ Ha} \text{ } 7 \text{ a} \text{ } 20 \text{ ca}$
- ♠ $800.170.030 \text{ dm}^2$ → $8 \text{ Km}^2 \text{ } 17 \text{ Dam}^2 \text{ } 30 \text{ dm}^2$
- ♠ $4.100.250.070 \text{ cm}^2$ → $41 \text{ Hm}^2 \text{ } 25 \text{ Dam}^2 \text{ } 7 \text{ cm}^2$
- ♠ $3.000 \text{ } ^\circ 02 \text{ m}^2$ → $30 \text{ Dam}^2 \text{ } 2 \text{ dm}^2$
- ♠ 7.300 Dam^2 → 73 Hm^2
- ♠ $5 \text{ } ^\circ 7 \text{ Km}^2$ → $5 \text{ Km}^2 \text{ } 70 \text{ Hm}^2$
- ♠ $93 \text{ } ^\circ 3 \text{ Hm}^2$ → $93 \text{ Hm}^2 \text{ } 30 \text{ Dam}^2$
- ♠ $609 \text{ } ^\circ 4 \text{ Dam}^2$ → $6 \text{ Hm}^2 \text{ } 9 \text{ Dam}^2 \text{ } 40 \text{ m}^2$
- ♠ $1.542 \text{ } ^\circ 607 \text{ dm}^2$ → $15 \text{ m}^2 \text{ } 42 \text{ m}^2 \text{ } 60 \text{ cm}^2 \text{ } 70 \text{ mm}^2$
- ♠ $809 \text{ } ^\circ 6 \text{ Hm}^2$ → $8 \text{ Km}^2 \text{ } 9 \text{ Hm}^2 \text{ } 60 \text{ Dam}^2$
- ♠ 240.062 mm^2 → $24 \text{ dm}^2 \text{ } 62 \text{ mm}^2$
- ♠ $0 \text{ } ^\circ 871 \text{ Km}^2$ → $87 \text{ Hm}^2 \text{ } 10 \text{ Dam}^2$
- ♠ 60.812 m^2 → $6 \text{ Hm}^2 \text{ } 8 \text{ Dam}^2 \text{ } 12 \text{ m}^2$
- ♠ $31 \text{ } ^\circ 409 \text{ Dam}^2$ → $31 \text{ Dam}^2 \text{ } 40 \text{ m}^2 \text{ } 90 \text{ dm}^2$
- ♠ $763 \text{ } ^\circ 2 \text{ m}^2$ → $7 \text{ dm}^2 \text{ } 63 \text{ cm}^2 \text{ } 20 \text{ mm}^2$
- ♠ 40.310 dm^2 → $4 \text{ Dam}^2 \text{ } 3 \text{ m}^2 \text{ } 10 \text{ dm}^2$
- ♠ $28 \text{ } ^\circ 04 \text{ Hm}^2$ → $28 \text{ Hm}^2 \text{ } 4 \text{ Dam}^2$
- ♠ $2 \text{ } ^\circ 365 \text{ Dam}^2$ → $2 \text{ Dam}^2 \text{ } 36 \text{ m}^2 \text{ } 50 \text{ dm}^2$
- ♠ $364 \text{ } ^\circ 3 \text{ dm}^2$ → $3 \text{ m}^2 \text{ } 64 \text{ dm}^2 \text{ } 30 \text{ cm}^2$
- ♠ $0 \text{ } ^\circ 645 \text{ Hm}^2$ → $64 \text{ Dam}^2 \text{ } 50 \text{ m}^2$

